MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

THREE DECIMAL PLACES :j oo
211) (.06 X 6 = 2260 —(0.5 x 0.02 =
220 () x (—0.06) = 21 (0 x (—0.4) =
29 —0.01 x (=0.1) = 28 —0.07 x 0.07 =
01 0.4 %09 = 290 (0.001 x (—0.04) =
2150 —0.2 x 0.009 = 20 2x 1=
2160 —(.5 x (—0.009) = 231 0.005 x 0.01 =
2017 —(0.06 x 0.9 = 232) (.03 x 0.1 =
15 —0.4 x (—0.004) = 5 0.1 x (=8) =
210) (0.3 x (—10) = 234 0.1 x 0.7 =
200 7 x (=0.3) = 235 0.001 x 0.07 =
21 10 x (=0.01) = 286 4 x 0.03 =
222) (0.3 x 0.006 = 20 —0.4 X 0.8 =
235 —8 X (—1) = 29 (0 X (—8) =
20 (.1 x (—0.002) = 239 —0.09 x 0.02 =
25 —9 x (=0.1) = 2400 (0.06 x 0.04 =
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